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1.The cross sections are squares. First, we need to find the side length of one square. The side-length of the square will be 
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2. The way that the differential equation is solved is through a multi-layered substitution. 
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4. THROWN OUT 
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   6. THROWN OUT 
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9. First, use Newton’s formula starting with 
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The first integral is the definition of the integral of arc tan of x. So now we have:
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12. This question is a very elementary derivative question:
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13. First lets start off with the curve 
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Method 2: Cylindrical Shells(
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14. THROWN OUT 

We start of this problem by stating what we know. Chris Kim is 170 feet tall, if we make a right triangle, we can see that this is the hypotenuse. This makes 
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16. Set this up as: 
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17. Set this up as(
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18. CHANGED TO D: This looks like a tough one. A trick with trigonometric substitution should make this a little easier! We have our function 
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19. First find the critical numbers of the function. 
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20. First let’s find the value of the derivative of the function at the x-value given. 
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21. The total profit generated by an item is defined as the revenue minus the manufacturing cost: 
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23. Linda’s answer can be found using the following differential approximation:
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25. First, we need to write the MacLaurin series for 
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26. Use the ratio test to find the interval of convergence:
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27. The differential equation 
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28. We should rearrange the integral given to 
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(trigonometric substitution from here will not work. So instead we’re going to rearrange the integral to make a substitution.
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